A AL #E R G2 7THEERITY)

(A )

EAR | T G - DS L4, LA
(BisA)

H27.3.27 |IT &G 35 St E—2 v 2, 786, 400 [
H27.3. 27 |HEH A3 Mt ORay s £ Rt ;%%Mﬁhgxﬁﬁ%ﬁ HE% 4,158,000 M
H27.3.27 kTl (36 1 PU-H) At A T 2 — 61.128 M/L
H27. 3. 27 %@igﬁﬁ%ﬁﬂy&—ﬁﬂ%ﬁ LI T oy RS 3,499 1/t
H27. 3. 27 iQME%ﬁ%ﬁﬁﬁ%ﬂ%ﬁ@% NEE Vg S 2 T3 1,944 [/t
H27.3. 27 Rk BOGBhAl (KP—9 1) A H F ORI 91.80 [7/ke
H27.3. 27 |@ RS THA R AR H RS 48.60 [7/ke
H27.3.27 |% L — hAl HRARtE =K 426.60 [ /kg
H27.3.27 |iIEIRFE (4 0 %) ARt ~x 28.944 /ke
H27.3.27 | A2 Z v 75581 (i) LI NE oY= v i 17,906, 400 M
H27. 4.7 |TEBIR I S AR RS i
HOT. 4.7 |RMEHRR R i U 1,562,976 [
Ho7. 4.7 |Zedmaniisinor e g%%%%é%&%ﬁ%ﬁ*%ﬁ% 1, 787, 400 [
H27. 4.7 | PR EEALAG & A UR 3EHS Zng%ﬁiﬁngx%Aﬁy 1,933,200
H27. 4.7 |k HRE KM AL aR AR O T 65 g%i?g”%y/ﬁ%gxﬁﬁ% 599, 400 1]
H27. 4.7 |KERE R FHRBR B — B A ka1t 1,188,000 [
H27. 4.7 |1V K OB 56 0 56 35 FOLBR BT — B A MRS 2,970, 000 1]
H27. 4. 21 |WEAE R A& g% (P PRk 42) H ASHIH IR S R S 23, 220, 000 M
H27. 4. 21 %ﬁﬁ%ﬁ@l%(ﬁv%yﬁﬁﬁ (AN S N/ S V= i 15,012,000
H27. 4. 21 ﬁ%%%k®%m%ﬁﬁ@ﬁ%ﬁﬁ BREEARAR AN AL 0= 26T 378, 000 1
H27. 4. 21 %&f*yyﬁ%ﬁ%ﬁ%ﬁwﬁ% hohT 7 ) AR S AL S 1,922,400 M
H27. 4. 21 g%;fyyﬁ%ﬁ%ﬁﬁ%@yﬁ oL T 7 ) AR S Sk 345,600 H
H27.6.30 kTl (55 2 PUH) AR RS 66. 852 /L
H27.7.2 %%?ﬁﬁ@l%<ﬁ$%ﬁ77y FI¥ 7T MEASH 2, 883, 600 [
H27.7.3 %gi;;jif%égﬁ(j% —H PR R A 2, 246, 400 H
97 9. o |PEEMRERARE L (AR Z B A S

i)




AL B CERR 2 7HESEITS)
(IEA[R])
EHE | T4 (FREEBA - DEES) R, A ALfl
(BiiA)
BEANfG XA E T8 (X A MEAIE |- A
H27.9.2 S T ) = HE B R A A 1, 944, 000 [
H27.9.4 |A b v 7 ¥— FEfi LF MRS LA TS S 86, 400, 000
MBS - BERR AT A& A
H27.9.4 (F M5 254 MRXE&tJECC 11, 336, 760 Y
H27.9.25 [£Th (28 3 PU-HA) HREA g2 54.972 M/ L
H27.9.25 | =7 5 o Fasss ) (1640) -
mzmiG%?%%@@I%(ﬁwmk%)% = R A 9,342,000 I
H27.11.19| T v 7 A — L EMHMEER JFE7 RXRUT v 7 R EH 594, 000
VYA 7 VT T WhiakErE KT |40 A
H2T. 1L 19| 7 e v e e WHEARA 2 MRS KRGS 810, 000 4
e e AP — A
H27. 11. 19 |BEHIBR - 4 BB S A 5 T2 Egigégva/% EABRAE 3,510, 000 [T
H27.11. 19 | E T3 H AHT I AT BSR4 1, 836, 000 Y
H27. 12. 17 KT (58 4 D9 -#1) Mt T2 — 41.58 H/L
H28. 1. 22 [BEENfEERAHE T2 (PN k) —E PR A A 25, 596, 000 [
s, 2.8 |27 VT FEGHLE BNR g mmanpcan 2, 646, 000 [

)




	H27

